1. ©& 139 AABC 94 AHLBC, BM = CM °]1 AB = Tcm,
BC = 10cm, AC = 8cm ¥ T AAHM 2] Ho]=9

6 V55 755 755
—CIn —CIn —CIn
32 30 32
@ 855 5 V55,



the 1304 ABGH 2] ®ol7} 3 V6em?
2 o, AABC 9] E¥9] Zo]&?

@ 2(V3+ v2) em

@ V2(2+ V2) em

® 2V3(V2+1) cm

@ 2(V3+1)cm

® V3(1+ V3) cm



& 193 2ol gABCD & #3
HAZFBC Hl9 H P o =5
H=th AD = 5cm, AB = 4cm
o o, ADPR 2] {o]&?

@ 10cm? @ 20cm?

@ 40cm? G 50cm?2







o2 29 22 FPAheg ABCD o4 BC = 5cm, CD = 3em &
o, AC 4+ BD 9] gt2?
A D
NN
v
|
B™~~5cm--"C
@ (2V13+2)cm @ (4V13+42)cm
® (2V13+4)cm @ (4V13+4)cm

® 10cm



| dlZtzel =71 A1t x o gl

@ 8<x< V113
@ V113 <x<15



th2 1T 28 AABC oA AB 9F AC 2 4 E
5l BELCD, AB = 18, BC = 10 & o], AC ] Zo|Z= F#351H

D 2vil @ 3vVil O 4vVil @ 5vVii & 6Vil



